

تلف سہ ۲۲

۱۲/۱۷

۱۵/۱۷ - ۱۵/۱۷

$$f(x) \rightarrow \begin{cases} a + \sqrt{x} & x < 1 \\ b + \sqrt{x} & x \geq 1 \end{cases} \quad f(x) \rightarrow \begin{cases} a + |x| & x < 1 \\ b + \sqrt{x} & x \geq 1 \end{cases} \quad \begin{matrix} r \in \mathbb{R}, b > a - b = 1 \\ b = \frac{r}{r}, a = \frac{1}{r} \end{matrix}$$

$$f(x) \rightarrow \begin{cases} -1 & x \leq 0 \\ 1 - \epsilon x & 0 < x \leq 1 \\ \frac{r}{r} & x \geq 1 \end{cases} \quad f(x) \rightarrow \begin{cases} a - x & x \leq 0 \\ a + x & 0 < x \leq 1 \\ b + \sqrt{x} & x \geq 1 \end{cases} \quad b = \frac{r}{r} \rightarrow a + b = r$$

$$f(x) = \frac{|x - r|}{\sqrt{x}} = \frac{r - x}{\sqrt{x}} \rightarrow f'(x) = -\frac{1}{\sqrt{x}} - \frac{(r - x)}{2x^{3/2}}$$

$$x = 1 \rightarrow f'(1) = -\frac{1}{\sqrt{1}} = -1, g(x) = \frac{(r - x)\sqrt{x}}{x^2} \rightarrow g'(x) = \frac{(-1)(\sqrt{x}) - (r - x)(\frac{1}{2\sqrt{x}})}{(x^2)^2}$$

$$= -\frac{1 - \frac{r}{2}}{x^2}$$

$$f(x) \rightarrow \begin{cases} b + \epsilon x & x < a \\ \frac{1}{x} & x \geq a \end{cases} \quad \begin{matrix} a = 0 \rightarrow a + b = \frac{1}{a} \\ -\frac{1}{a} + \epsilon = \frac{r}{a} \rightarrow \epsilon = \frac{r}{a} + \frac{1}{a} \\ \underline{ac = r} \end{matrix}$$

$$f(x) \rightarrow \begin{cases} b & x < a \\ b + (x - a)^m & x \geq a \end{cases} \quad f'(x) \rightarrow \begin{cases} 0 & x < a \\ m(x - a)^{m-1} & x \geq a \end{cases}$$

$$m = 1 \rightarrow m = 1$$

$$g'(-\sqrt{x}) f'(g(-\sqrt{x})) (h(g(-\sqrt{x}))) \rightarrow x = -\sqrt{x} \rightarrow f(x) = \frac{1}{\sqrt{x}} \rightarrow h(g(x)) = \frac{1}{\sqrt{x}}$$

$$(f \circ g)'(x) = (f'(g(x))) \cdot (g'(x)) \rightarrow x' = 1$$

$$f(x) = -x^a - \omega, f'(x) = -a \rightarrow f'(x) \cdot f(x)^{a-1} = -a \cdot x^{a-1} + \omega \cdot x^{a-1}$$

$$a = \frac{a}{r} \rightarrow f(x) = -\frac{1}{r} \rightarrow f'(x) = \frac{a}{r} \rightarrow \frac{f(x)}{f'(x)} = -\frac{1}{\frac{a}{r}} = -\frac{r}{a}$$

$$f(x) = \left(a \left(\frac{x^r}{r} + \frac{1}{r} \right) \right)^{\frac{1}{r}} \quad f(g(x)) \rightarrow \left(\frac{1}{\sqrt[r]{x^r - 1}} \left(\frac{x^r}{r} + \frac{1}{r} \right) \right)^{\frac{1}{r}} + 1$$

$$g(x) = \frac{1}{\sqrt[r]{x^r - 1}} \quad \left(\frac{x^r}{\sqrt[r]{x^r - 1}} \right)^{\frac{1}{r}} + 1 \rightarrow \frac{1 \cdot x^r \cdot a}{a \left(\sqrt[r]{x^r - 1} \right)^r} \left(\frac{x^r}{\sqrt[r]{x^r - 1}} \right)^{\frac{1}{r}}$$

$$\frac{a \cdot \frac{x^r}{\sqrt[r]{x^r - 1}} \cdot \frac{x^r}{r}}{-a \cdot x^{\frac{r}{r}} \cdot \frac{x^r}{r}} = \frac{a \cdot x^{\frac{2r}{r}}}{-a \cdot x^{\frac{r}{r}} \cdot \frac{x^r}{r}} = \frac{-a \cdot x^{\frac{r}{r}}}{1 \cdot a \cdot x^{\frac{r}{r}}} = -\frac{1}{r}$$

$$g(x) = f(x+1) + f(ax+1) \quad g'(x) = f'(x+1) + a f'(ax+1) \rightarrow g'(-r) = f'(-r) + a f'(-r)$$

$$g'(-r) = \frac{a}{r} + \frac{a}{r} = \frac{2a}{r}$$

$$\lim_{\omega \rightarrow n} \frac{f(\omega)^r - a f(\omega) + r \int_{\omega}^{\omega} f(-f(\omega)) f(\omega) + a f'(\omega)}{\omega - n^r}$$

$$\frac{f'(\omega)}{\omega} = \frac{-ra}{\frac{1}{r}} = -\frac{a}{1/r}$$

$$ay = aq + 1 \rightarrow y = \frac{1}{r} a + \frac{1}{r} \rightarrow m = \frac{1}{r} \rightarrow m' = -r \rightarrow (a^r - aq + \omega)' = -r$$

$$r q - r = -r \rightarrow q = 1 \rightarrow q = 1 \rightarrow q^r - a q + \omega = r \quad \left| \frac{1}{r} \right|$$